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(a) 1

(b)

14+1=77

—

N v
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T or F:

Any global max is
a local max.

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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T or F:
Any global max or global min is
at a critical number.

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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T or F:
f incr. on (2,3)
— f/>0o0n (2,3)

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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T or F:
If f/>0on I,
then f is increasing on 1.

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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T or F:
If f is decreasing on 1,
then f/ <0 on I.

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(a)

(b) False

True

T or

If /<0 on I,

then f is cc dn on 1.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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END
QUIZ



END
CLASS



(a) True

(b) False

T or F:

Any local max is
a global max.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

At any critical number is
a local max or a local min.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or F:

Any local max or local min is

at a critical number.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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T or F:
f incr. on (2,3)
= f/>0o0n (2,3)

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(a) True

(b) False

T or F:
f incr. on (2,3)
£ diff. on (2,3)
— f/>0o0n (2,3)

N v
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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T or F:
>0 on (2,3)
—  fincr. on (2,3)

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(a) True

(b) False

T or

If f is increasing on I,
then f/ >0 on I.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

If f/<0on I,
then f is decreasing on 1.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

[T fis cc up on I,
then 7> 0 on I.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

If />0 on I,

then f is cc up on I.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

If f is decreasing on 1,
then f/ <0 on I.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

If fis cc down on I,
then f7 <0 on I.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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(a) True

(b) False

T or

If f7>0 on I,

then f is cc dn on 1.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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[d/dzx][xe¥Y + y] = 77 \

(@) e¥ 4 zeVy’ 4 o/

(b) e¥ + ze¥ + 1
(c) e¥ + ze¥ 4+

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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[d/dx][xe? + y] = e¥ + ze¥y’ + 3/
= e¥ + (ze¥ + 1)/ rxed +y=1
y' = 77

(@) (1 —e¥)/(ze? + 1)

(b) e¥/(ze¥ + 1)

(c) —e¥/(xe¥ 4+ 1)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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y = —e¥/(ze¥ + 1) reY +y =1
slope at (0,1)7

(a) —e
(b) O

(c) -1

(d) none of the above

0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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f8) =7, f(8)=—-4
g=f1
g(7) =77, g’(?) — e

(a)8, -—-1/4

(b)8, 1/7
(c) not enough information

(d) none of the above
0% 0% 0% 0%

> Vv

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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g=f""1
f(6) =29, f(6)=1/4
g'(6) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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[d/dz][(cosy) + 23] = 77

(a) —(siny) + 6y2
(b) —(siny") + 6(y)?

(c) —(siny)y’ + 6y2

(d) none of the above

0% 0% 0% 0%
Correct answer:—(siny)y’ + 6y2y |“.— . .~ .

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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[d/dx][tan(zy)] = 77

(a) —[sec(ay)]ly + =y/]

(b) [sec?(zy)]ly + zy/]

(c) —[sec®(zy)]ly + =]

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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1

(d/dx)(arctanz) =

14+ z2
(a) 5 +t 3 (d/dx)(arctane®) = 77
(b)  (arcsec2e®)(e®)
1
© i

(d) none of the above

xZ

0% 0% 0% 0%

o | A
e GO I

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30

Correct answer:
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flg(z)) ==

[f'(g(x))]lg'(x)] =1
LF'(g(TNIg (T)] =1

(a)1/2

(b) 4

(c)0

(d) none of the above

g=f1
fl(4) =2, ¢(7) =77

0%

0%

v

0%

0%

6 7 8 9 10

11

12

13

14

15

16

17

18

19

20
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flg(x)) ==
[f'(g(x))]lg'(x)] =1
LF'(g(TNIg (T)] =1

(a)1/2

(b) 4

(c) not enough information

(d) none of the above

g=f""1

f(4)=7,9(7)=4
fl(4)=24(1)=r77

0%

0%

v

0%

0%

1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13

14

15

16

17

18

19

20

21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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g=f""1
f(6) =29, f(6)=1/4
g'(9) =77

(a)1/2

(b) 4

(c) not enough information

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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f(4)=-6, f(4)=8
g=f1
g(—6) =77, ¢(—6) =77

(a)4, 1/8

(b)1/4, 1/8
(c) not enough information

(d) none of the above
0% 0% 0% 0%

> Vv

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 ) 26 | 27 | 28 | 29 | 30
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In(1 + [f(=)])

~ fale
r— Qa
provided f(xz) — O
(a) O Tr — Q
(b) In[f(x)]
()14 [f(2)]
(d) none of the above
0% 0% 0% 0%
Correct answer: f(x) N
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
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